
Biology – Science Answer Key 
 

Item 
Number 

Item Type TEKS 
Maximum 
Number of 

Points 

Correct 
Answer(s) 

Reporting 
Category 

Readiness 
and 

Supporting 

1 Text Entry 2.B.6.F 1 
 0 

See Appendix 1.1 
2 Readiness 

2 Inline Choice 2.B.6.E 1 

 Because a point 

mutation has 

occurred in the 

MOGS gene, one 

wrong amino acid is 

placed in the MOGS 

protein chain. 

See Appendix 1.2 

2 Readiness 

3 
Match Table 

Grid 
1.B.4.C 2 

Supports: Contains 

RNA wrapped in a 

capsid. Uses sugars 

on cell membranes 

to enter host cells 

for reproduction. 

Does Not Support: 

Causes fever, 

fatigue, nausea, 

and joint pain. Is 

found in tropical 

regions 

See Appendix 1.3 

1 Readiness 

4 Multiple Select 
2.B.6.F 

 
2 

A, E 

See Appendix 1.4 
2 Readiness 

5 Multiple Choice 4.B.10.A 1 B 4 Readiness 

 
  



m 

Biology – Science Appendix 
1.1 

 
1.2 

 
1.3 

 

  

Two parents wh o do nott have MOGS-CDG have a ch ild with th e 

condi1t i1on . What is the p robabili t y that at least one of t he parents 

has th e M genoty pe fo r OGS-CDG? 

Enter you r answer iin the box . 

What ha ppens wh en a MOGS protein is lbe ing1 assem bled in a person 
w ith MOGS- CDG? 

Choose t e cor1rect answer from each dro p- dmAm m e u to complete 
the statement . 

Because a point mutafon has occu rred in t he MOGS gene, 

one w rong (:: am ino acid is p laced in th e MOGS 

prote in chain (:: . 

A student claim s that t he dengue pat hogen is a v irus. 

Determine wheth er each piece of information i1n the ta ble supports 
or does not support the student's claim. 

Sellect the correct answer in each row. 

Conta ins RNA wrapped in a ca psid 

Causes fever, fat igue, nausea, a nd 
joint pa in 

Uses suga rs on eel I membr anes to 

enter host cells fo r reprod uction 

I s found in t ropical regions 

Su pports 

m 

Does Not 
Su pport 

m 

m 



1.4 

 

A parent who is homozygous dominant (AA) for the MOGS-CDG t rait 
has a ch ild with a parent who has MOGS-CDG. Which statements are 

true? 

Select TWO cor rect answers. 

Ci! There is a 0% chance that the c hild will have MOGS-CDG. 

0 There is a 25% chance that the child will have the 
Aa genotype. 

0 There is a 50% chance that the child will inherit an A allele. 

0 There is a 75% chance that the child will show t he dom inant 
phenotype. 

Ci! There is a 100% chance that t ne child will inher it an a allele. 
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